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Question Id : 9209067285 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Mumbai message

Shinde survives.But SC makes clear party has primacy over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra’'s MVA government in June 2022. The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy availahle now the bench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legizlators. This may mean that the current Maharashtra assembly speaker, BJPs Rahul
Narwekar, connot rely on just numbers but has to use Shiv Sena's constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key player in the tenth schedule. Here the SC judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Rebia case) to a large bench because of
contradictory reasoning”. In the interim, it’s given the speaker power to helm proceedings on
defection, subject to jusdical review. The other critical actor in defection is the state's
governor. Here, SC has once again emphasized that they have limited discretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which is where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC's stance is very clear. The
rajyvapals should take note.

Sub questions

Question Number : 1 Question Id : 9209067286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The word meddle refers to:

(1) Mediator, who brings about an agreement.
(2) Medial, that is situated in middle.
(3) One who interferes that is not one’s concern.

(4) Meek, one whao is gentle.

Options :

92090628801. 1
92090628802. 2
92090628803. 3
92090628804. 4

Question Number : 2 Question Id : 9209067287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : The Supereme Court criticized B S Koshvari the then governor of

Maharashtra in its ruling.

Statement 11 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement 1 and Statement [l are incorrect

(3) Statement [ is true but Statement I is incorrect

(4) Statement [ is false but Statement I is correct
Options :

92090628805. 1
92090628806. 2
92090628807. 3
92090628808. 4

Question Number : 3 Question Id : 9209067288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements read the following statements:

Statement [ : A floor test is not the platform to resolve interparty dispute.

Statement 11 : The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement I1 are incorrect
(3 Statement [ is true but Statement I1 is incorrect
(4) Statement I is false but Statement I1 is correct

Options :

92090628809. 1
92090628810. 2
92090628811. 3
92090628812. 4

Question Number : 4 Question Id : 9209067289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3) Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.

Options :

92090628813. 1
92090628814. 2
92090628815. 3
92090628816. 4



Question Number : 5 Question Id : 9209067290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered Nabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement, of a High Court.

(B} relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(DD based on such reasoning which were denying the truth by asserting the opposite.

(1) (A), (B)
(2) (B), (C)
(3) (A), (C)
(4) (B). (D)

Options :

92090628817. 1
92090628818. 2
92090628819. 3
92090628820. 4
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Mumbai message

Shinde survives.But SC makes clear party has primacy over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra's MVA government in June 2022. The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy availahle now the bench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legizlators. This may mean that the current Maharashtra assembly speaker, BJFs Rahul
Narwekar, connot rely on just numbers but has to use Shiv Sena’s constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key plaver in the tenth schedule. Here the SC judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Hebia ease) to a large bench because of
contradictory reasoning’. In the interim, it’s given the speaker power to helm proceedings on
defection, subject to jusdical review. The other eritical actor in defection i1s the state's
governor. Here, SC has once again emphasized that they have limited discretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which is where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC’'s stance is very clear. The
rajyapals should take note.

Sub questions

Question Number : 1 Question Id : 9209067286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word meddle refers to:

(1)

Mediator, who brings about an agreement.

(2) Medial, that is situated in middle.
(3) One who interferes that is not one's concern.
(4) Meek, one who is gentle.

Options :

92090628801. 1
92090628802. 2



92090628803. 3
92090628804. 4

Question Number : 2 Question Id : 9209067287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The Supereme Court criticized B S Koshyari the then governor of

Maharashtra in its ruling.

Statement 11 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are correct
(2) Both Statement 1 and Statement Il are incorrect
(3) Statement [ is true but Statement I1 is incorrect
(4) Statement [ is false but Statement I is correct

Options :

92090628805. 1
92090628806. 2
92090628807. 3
92090628808. 4

Question Number : 3 Question Id : 9209067288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements read the following statements:

Statement I : A floor test is not the platform to resolve interparty dispute.

Statement 11 :  The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

(1 Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement II are incorrect

(3 Statement [ is true but Statement Il is incorrect

(4) Statement I is false but Statement II is correct
Options :

92090628809. 1
92090628810. 2
92090628811. 3
92090628812. 4

Question Number : 4 Question Id : 9209067289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3) Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.
Options :

92090628813. 1
92090628814. 2
92090628815. 3
92090628816. 4

Question Number : 5 Question Id : 9209067290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered WNabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement, of a High Court.

(B) relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(D) based on such reasoning which were denying the truth by asserting the opposite.

(1) (A). (B)
(2) (B). (C)
(3) (A). (C)
(4) (B), (D)

Options :

92090628817. 1
92090628818. 2
92090628819. 3
92090628820. 4

Sub-Section Number : 2
Sub-Section Id : 920906232
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209067291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Your behavior is not cricket means you have not behaved

(1) in intelligent manner
(2) in an honourble way

(3 As a dark horse
(

4) 1n 4 couragious manner.

Options :

92090628821. 1
92090628822. 2
92090628823. 3
92090628824. 4

Question Number : 6 Question Id : 9209067291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Your behavior is not ericket means you have not behaved

(1) in intelligent manner

(2) in an honourble way

(3) As a dark horse

(4) in & couragious manner.
Options :

92090628821. 1
92090628822. 2
92090628823. 3
92090628824. 4

Question Number : 7 Question Id : 9209067292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT" 1s:

(1) Grant
(2) Agree
(3 Permit
i(4) Accept
Options :

92090628825. 1
92090628826. 2
92090628827. 3
92090628828. 4

Question Number : 7 Question Id : 9209067292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT” is:

(1) Grant
(2) Agree
(3 Permit
i(4) Accept
Options :

92090628825. 1
92090628826. 2
92090628827. 3



92090628828. 4

Question Number : 8 Question Id : 9209067293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word “PATRONAGE” is:

1) Donation

2) Support

[
1

(
(
(3) Espionage
(

4) Beneficiary

Options :

92090628829. 1
92090628830. 2
92090628831. 3
92090628832. 4

Question Number : 8 Question Id : 9209067293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word “PATRONAGE" is:

1) Donation

(
(2) Support
(3) Espionage
(

[
1

4) Beneficiary

Options :

92090628829. 1
92090628830. 2
92090628831. 3
92090628832. 4

Question Number : 9 Question Id : 9209067294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the option that inproves the given statement grammatically. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.

{2) A majority of students believe that the examinations have been necessary.
(3) A majority of students helieve that the examinations are being necessary.
(

4) No improvement.

Options :

92090628833. 1
92090628834. 2
92090628835. 3
92090628836. 4

Question Number : 9 Question Id : 9209067294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option that inproves the given statement grammatieally. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.

(2) A majority of students believe that the examinations have been necessary.
(3) A majority of students believe that the examinations are being necessary.
(4) No improvement.

Options :

92090628833. 1
92090628834. 2
92090628835. 3
92090628836. 4

Question Number : 10 Question Id : 9209067295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A place with circular currents of water, which can pull objects down into it: -

(1 Wheel lock (2)  Wheelic
(3 Wheeler (4) Whirlpool

Options :
92090628837. 1



92090628838. 2
92090628839. 3
92090628840. 4

Question Number : 10 Question Id : 9209067295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A place with circular currents of water, which can pull objects down into it: -

(1) Wheel lock (2) Wheelic
(3 Wheeler (4) Whirlpool

Options :

92090628837. 1
92090628838. 2
92090628839. 3
92090628840. 4

Question Number : 11 Question Id : 9209067296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A certain sum of money invested on simple intrest at 15% per annual fetched Hs 10,350 as
intrest in 3 years find the sum invested
(1) Rs.22800
(2) Rs.23000
(3) Rs.24000
(4) Rs.24500

Options :

92090628841. 1
92090628842. 2
92090628843. 3
92090628844. 4

Question Number : 11 Question Id : 9209067296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A certain sum of money invested on simple intrest at 15% per annual fetched Rs.10,350 as
intrest in 3 vears find the sum invested

1) Rs.22800

2) R=.23000

3 Rs.24000

1) Rs.24500

o

(
(
(
(

Options :

92090628841. 1
92090628842. 2
92090628843. 3
92090628844. 4

Question Number : 12 Question Id : 9209067297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
B0cm if the vessel is partly filled with water and the sphese dropped in it is completely
immersed than by how much ythe water level increases?

(1) 25em
(2) 22 5em
(3) 22em
(4) 21.8cm

Options :

92090628845. 1
92090628846. 2
92090628847. 3
92090628848. 4

Question Number : 12 Question Id : 9209067297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
BOcm if the vessel is partly filled with water and the sphese dropped in it is completely
immersed than by how much ythe water level increases?

(1) 25cm
(2Z) 22 Hem
(3) 22em
(4) 21 8cm

Options :

92090628845. 1
92090628846. 2
92090628847. 3
92090628848. 4

Question Number : 13 Question Id : 9209067298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Rs. 42000. After 2 month Reena joined her by
investing Ks. 35000. Profit at the end of 10 month was Hs.315% Heena's share in the profit
(in Rs.) is:

(1) 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090628849. 1
92090628850. 2
92090628851. 3
92090628852. 4

Question Number : 13 Question Id : 9209067298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Rs, 42000. After 2 month Reena joined her by
investing Rs. 35000. Profit at the end of 10 month was Rs.315% Reena's share in the profit
(in Bs.) is:

(1) 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090628849. 1



92090628850. 2
92090628851. 3
92090628852. 4

Question Number : 14 Question Id : 9209067299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
Find the value of “x” is the following 1024724243 = x2+5

(1) 21 (2) 22
(3) 23 (4) 24
Options :

92090628853. 1
92090628854. 2
92090628855. 3
92090628856. 4

Question Number : 14 Question Id : 9209067299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
Find the value of “x" is the following 102+724243 ° = x2+5

() 21 (2) 2
(3) 23 (4) 2

frd

Options :

92090628853. 1
92090628854. 2
92090628855. 3
92090628856. 4

Question Number : 15 Question Id : 9209067300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a

day and walk with speed 1% times of the previous speed then in how many days will he

cover 540km?

(1) 39 2y 33
(3) 35 (4) 37

Options :

92090628857.
92090628858.
92090628859.
92090628860.

AW N =

Question Number : 15 Question Id : 9209067300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a

1
day and walk with speed 'IE times of the previous speed then in how many days will he

cover 840km?

(1) 39 (2) A8
(3) 36 (4) 37

Options :

92090628857.
92090628858.
92090628859.
92090628860.

N O R S R

Question Number : 16 Question Id : 9209067301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Ravi?

1) Grandfather

(

(2) Father

(3 Uncle

(4) Brother- in- low

Options :



92090628861. 1
92090628862. 2
92090628863. 3
92090628864. 4

Question Number : 16 Question Id : 9209067301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Havi?

(1) Grandfather
(2) Father

(3 Uncle

(

4) Brother- in- low

Options :

92090628861. 1
92090628862. 2
92090628863. 3
92090628864. 4

Question Number : 17 Question Id : 9209067302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o O
Q Q
Q
O
a [+] L+]
@ Q
o =T I+ ] o
[+]
a
0 [+]
(1) 2
(Z) 4
(3) 5
(4) 6
Options :

92090628865. 1
92090628866. 2
92090628867. 3
92090628868. 4

Question Number : 17 Question Id : 9209067302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o O
Q Q
Q
O
a [+] L+]
@ Q
o =T I+ ] o
[+]
a
0 [+]
(1) 2
(Z) 4
() 5
(4) 6
Options :

92090628865. 1
92090628866. 2
92090628867. 3
92090628868. 4

Question Number : 18 Question Id : 9209067303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 478?

(1) 470
(Z) 487
(3) 471
(4) 474
Options :

92090628869. 1



92090628870. 2
92090628871. 3
92090628872. 4

Question Number : 18 Question Id : 9209067303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 478?

(1) 470
(2) 487
(3) 471
(4) 474

Options :

92090628869. 1
92090628870. 2
92090628871. 3
92090628872. 4

Question Number : 19 Question Id : 9209067304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Answer the following question by studying the statement and assumptions.
Statemenent: - 1t is desirable to put the child in school at the age of 5 or 50.

Agsumptions: - 1. At that age the child reaches appropriate level of development and is
ready to learn.

[I. The schools do not admit children after six years of age.

(1) Only assumption I iz implicit.
(2 Only assumption Il is implicit.
(3 Either I or 11 is implicit.

(4) MNeither | or I is implicit.

Options :

92090628873. 1
92090628874. 2
92090628875. 3
92090628876. 4



Question Number : 19 Question Id : 9209067304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Answer the following question by studying the statement and assumptions.
Statemenent: - It is desirable to put the child in school at the age of 5 or 50.

Assumptions: - 1. At that age the child reaches appropriate level of development and is
ready to learn.

[1. The schools do not admit children after six yvears of age.

(1) Only assumption I iz implicit.
(2) Only assumption 1 is implicit.
(3) Either I or Il is implicit.

4 Meither I or 11 is implicit.

Options :

92090628873. 1
92090628874. 2
92090628875. 3
92090628876. 4

Question Number : 20 Question Id : 9209067305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
wialks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest

(2) 6 km southwest

(3 5 km southwest

i(4) 5 km northeast

Options :

92090628877. 1
92090628878. 2
92090628879. 3
92090628880. 4

Question Number : 20 Question Id : 9209067305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
walks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest

(2) 6 km southwest

(3 5 km southwest

i(4) 5 km northeast

Options :

92090628877. 1
92090628878. 2
92090628879. 3
92090628880. 4

Question Number : 21 Question Id : 9209067306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT :

List I List IT
Term Deal with
{A) Obstetrics (I) Vegetable growing
(B) Odonntogrophy (IT) Branch of mediciane dealing
with preghang
(C)  Olericulture (III) The storsy of bones
(D) Osteology (IV) ascience and story of teeth

Choose the correct answer from the options given below:

(1) (A)-(1D), (B)-(IV), (C)-(1), (D)-(I1I)
(2) (A)-(IID), (B)-AV), (C)-(I), (D)-(1I)
( )-
( )-

i

3) (A)-(IV), (B)-(I1), (C)-(1), (D)-(I1I)

4) (A)-(1I), (B)-(IV), (C)-(I1T), (D)-(I)

Options :

92090628881. 1
92090628882. 2
92090628883. 3
92090628884. 4

Question Number : 21 Question Id : 9209067306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List I List II
Term Deal with
(A) Obstetrics (I) Vegetable growing
(B) Odonntogrophy (I) Branch of mediciane dealing
with preghang
(C)  Olericulture (IIT) The storsy of bones
(D) Osteology (IV) ascience and story of teeth

Choose the correct answer from the options given below:

(1) (A)-(I1), (B)-(IV), (O)-(D), (D)-(I11)
(2 (A4)-(IID), (B)-(IV), (C)-(I), (D)-(1T)
(3 (A)-(IV). (B)-(ID), (C)-(I). (D)-(I1T)
(4) (A)-(1I), (B)-(IV), (C)-(I1I), (D)-(T)

Tt

Options :

92090628881. 1
92090628882. 2
92090628883. 3
92090628884. 4

Question Number : 22 Question Id : 9209067307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3) Propane and Benzane

(4) Propane and Ethane

Options :

92090628885. 1
92090628886. 2
92090628887. 3
92090628888. 4

Question Number : 22 Question Id : 9209067307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3) Propane and Benzane

(4) Propane and Ethane

Options :

92090628885. 1
92090628886. 2
92090628887. 3
92090628888. 4

Question Number : 23 Question Id : 9209067308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct statements are:
(A) The first person to enter space is Edward White.
(B) The first country to send man on the moon is USA.

(C)  The first Indian to go into space ig8 Rakesh Sharma.

(D)  The first country to send mars orbiter in first attempt is China.

Choose the correct answer from the options given below :

(1) (A) & (B) only

(2) (A). (B) and (C) only
(3 (B) and (D) only

(4) (B) and (C) only

Options :

92090628889. 1
92090628890. 2
92090628891. 3
92090628892. 4

Question Number : 23 Question Id : 9209067308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct statements are:
(A) The first person to enter space is Edward White.
(B) The first country to send man on the moon is USA.

(C)  The first Indian to go into space iz Rakesh Sharma.

(D)  The first country to send mars orbiter in first attempt is China.

Choose the correct answer from the options given below :

(1) (A) & (B) only

(2) (A). (B) and (C) only
(3 (B) and (D) only

(4) (B) and (C) only

Options :

92090628889. 1
92090628890. 2
92090628891. 3
92090628892. 4

Question Number : 24 Question Id : 9209067309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the Vedas mainly consists of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3 Atharvea Veda
(4) Rig Veda

Options :

92090628893. 1
92090628894. 2
92090628895. 3
92090628896. 4

Question Number : 24 Question Id : 9209067309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the Vedas mainly consists of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3 Atharvea Veda
(4) Rig Veda

Options :

92090628893. 1
92090628894. 2
92090628895. 3
92090628896. 4

Question Number : 25 Question Id : 9209067310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement | : The idea of single citizenship in the constitution of India is adapted
from British consititution

Statement 11 :  Funndamental dulies under article S1-A of Indian constitution is

adapted from French constitution

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [1 are correct

(2) Both Statement I and Statement Il are incorrect

(3 Statement [ is true but Statement 11 iz incorrect

(4) Statement [ is false but Statement I1 is correct
Options :

92090628897. 1
92090628898. 2
92090628899. 3
92090628900. 4



Question Number : 25 Question Id : 9209067310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : The idea of single citizenship in the constitution of India iz adapted
from British consititution

Statement 11 :  Funndamental dulies under article 51-A of Indian constitution is

adapted from French constitution

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [1 are correct
(2) Both Statement I and Statement Il are incorrect
(3 Statement I is true but Statement 11 is incorreet
(4) Statement [ is false but Statement II is correct

Options :

92090628897. 1
92090628898. 2
92090628899. 3
92090628900. 4

Part B: Political Science

Section Id : 920906146
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear

Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 920906233
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209067311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is not a part of the central theme of green ideclogy?
1. Holism
2.  From being to having
3. Ecology

4.  Sustainability

Options :

92090628901. 1
92090628902. 2
92090628903. 3
92090628904. 4

Question Number : 26 Question Id : 9209067311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad & @ s g faarRym &1 U o gl 82

(1) JAUdIE (@iferen)
2)  Sif%ra @ g1 ae (wieen ¢ efdm)
3) uRfRufast
(4)  HYRUYd
Options :

92090628901. 1
92090628902. 2
92090628903. 3
92090628904. 4



Question Number : 27 Question Id : 9209067312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is not a principle of Utilitarianism?
1.  Greatest good of the greatest number
2. Government is a necessary evil
3. State is a natural necessity
4.  Maximum happiness of maximum number

Options :

92090628905. 1
92090628906. 2
92090628907. 3
92090628908. 4

Question Number : 27 Question Id : 9209067312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafdifead 7 9 S Iudifidrar &1 v Rigid 78 82

(1) SffSrman Tl &1 siitisan fgd 2) PR UH AaH WS o
(3) U US A AaRgedhdl & (4) SHiEHad drTl &1 s dH uEFdl

Options :

92090628905. 1
92090628906. 2
92090628907. 3
92090628908. 4

Question Number : 28 Question Id : 9209067313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An example of direct democracy is
1.  Social-Communist style
2.  Anglo-American type
3.  Athenian type

4. Egyptian type

Options :

92090628909. 1
92090628910. 2
92090628911. 3
92090628912. 4

Question Number : 28 Question Id : 9209067313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U4 Tieba &1 Ueh Jaleyl &Il 52

(1) YIS — JrIdre! el (RId)
(2) 3 — ARSI PR

(3) UUH UBR (UUREE g

(4) ol yoR (SFTRIEH TrF)

Options :

92090628909. 1
92090628910. 2
92090628911. 3
92090628912. 4

Question Number : 29 Question Id : 9209067314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Guild Socialist theory
1. Advocates industrial democracy
2.  Advocates territorial democracy
3.  Advocates community of feeling based on economic interests

4.  Protects individual from tyranny

Options :

92090628913. 1
92090628914. 2
92090628915. 3
92090628916. 4

Question Number : 29 Question Id : 9209067314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e yASaTe] Hgid et tRIeR] Hdl 67

(1) SR didda

(2) &eig cRaiRae) diedd

(3)  onfde fgdl uR smenfyd Gy &1 HiaA
(4)  SIER 9 AfddTd Y&

Options :

92090628913. 1
92090628914. 2
92090628915. 3
92090628916. 4

Question Number : 30 Question Id : 9209067315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following was a magazine started by Mahatma Gandhi in South
Africa?

1. Young India
2. Harijan
3. Indian Opinion

4.  Hind Swaraj

Options :

92090628917. 1
92090628918. 2
92090628919. 3
92090628920. 4

Question Number : 30 Question Id : 9209067315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeTdH1 7l 3 <& smpie & FHfaiad & 9 9 ufHie & uRe fear ar

(1) gnstem 2) Biem
(3)  sfeTA shfufmA 4) RewRE
Options :

92090628917. 1
92090628918. 2
92090628919. 3
92090628920. 4

Question Number : 31 Question Id : 9209067316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which two among the following did B. R. Ambedkar identify as critics of social
reform in India?

1. Radicals and Anarchists

2. Anarchists and Socialists

3. Political Reformers and Socialists
4. Podlitical Reformers and Anarchists

Options :

92090628921. 1
92090628922. 2
92090628923. 3
92090628924. 4

Question Number : 31 Question Id : 9209067316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dl. 3. g A FufeiEd d I 57 3 &1 YRd § IHfo$ GuR & TS| & ©9 3§
ggdH @t A

(1) 3Md gREd-are! 3R sRIShdardre
(2) SRS 3R JHTSama!

(3) TS YRS R GHCERE]

(4) SIS YURS 3R SRTSHAarg!

Options :

92090628921. 1
92090628922. 2
92090628923. 3
92090628924. 4

Question Number : 32 Question Id : 9209067317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following regional parties does not have a regional-ethnic
character?

1. TDP in Andhra Pradesh
2. AGP in Assam
3.  AIADMK in Tamil Nadu

4. AAP in Delhi

Options :

92090628925. 1
92090628926. 2
92090628927. 3
92090628928. 4

Question Number : 32 Question Id : 9209067317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafdied 7 @ o veifaes urdi 1 &g -wwrdia siitreeor =8l 82

(1) YU H S (2) SEHH TS
(3) e B Tes Sl ua. 4) Tl # 3my (aAP)
Options :

92090628925. 1
92090628926. 2
92090628927. 3
92090628928. 4

Question Number : 33 Question Id : 9209067318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not an official actor of public policy?
1. Political parties
2. Judiciary
3.  Administrators
4. Executive

Options :

92090628929. 1
92090628930. 2
92090628931. 3
92090628932. 4

Question Number : 33 Question Id : 9209067318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofefaa ¥ 9 &1 adwqe Hifd &1 snfiEiie &dl (Sifbad ) 76l 87

(1) Jeifae ardfai (2) =graurferaT
(3) UEH (4) eI
Options :

92090628929. 1
92090628930. 2
92090628931. 3
92090628932. 4

Question Number : 34 Question Id : 9209067319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following scholars described the shift from an interventionist to
a regulatory State in India?

1. Partha Chatterjee
2.  Rajni Kothari
3. Lloyd Rudolph and Susanne Rudolph

4. John Harriss

Options :

92090628933. 1
92090628934. 2
92090628935. 3
92090628936. 4

Question Number : 34 Question Id : 9209067319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofalea ¥ 9 9 fdem 3 YRd ¥ '8 sauae] § U Fams T OF & uRadd &
qu fFar g7

(1) o gest (2) T BIBR
(3) TIUS Felah AR o Ealah @ dFgRa

Options :

92090628933. 1
92090628934. 2
92090628935. 3
92090628936. 4

Question Number : 35 Question Id : 9209067320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The International Court of Justice is located at
1. New York
2. Geneva
3. The Hague

4. Brussels

Options :

92090628937. 1
92090628938. 2
92090628939. 3
92090628940. 4

Question Number : 35 Question Id : 9209067320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRTPT rTey Sei 3afeyd 87

(1) =ghis (2) Sar
(3) &gl @) T
Options :

92090628937. 1
92090628938. 2
92090628939. 3
92090628940. 4

Question Number : 36 Question Id : 9209067321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The term of the Lok Sabha was extended to six years by which of the following
amendment?

1.  41st Constitutional Amendment Act
2. 42nd Constitutional Amendment Act
3.  43rd Constitutional Amendment Act

4.  44th Constitutional Amendment Act

Options :

92090628941. 1
92090628942. 2
92090628943. 3
92090628944. 4

Question Number : 36 Question Id : 9209067321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad 7 O {9 T2y & gR1 @i6aHT 1 FAEE T8 I8 db derdl 41 U1?

(1) 41 g "fae= Sgne= (2) 42 i didera gy
(3) 43 g dfayrE geneE 4) 44 91 Gfgur g9neE
Options :

92090628941. 1
92090628942. 2
92090628943. 3
92090628944. 4

Question Number : 37 Question Id : 9209067322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When the President of India addresses a joint session of the Parliament, who
presides over the session?

1.  Speaker of the Lok Sabha
2. Deputy Speaker of the Lok Sabha
3. Chairman of the Rajya Sabha

4. No one presides over the session

Options :

92090628945. 1
92090628946. 2
92090628947. 3
92090628948. 4

Question Number : 37 Question Id : 9209067322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

od URd & UE & GG A B Haltd S/ ¢ @ B 39 SfEEH Hi
el Sl o7

(1) <l T BT 3HeTe
(2)  THHHH BT JUTeHE
(3) ST YT & e
@) B+ 39 ARQAT F remerar TE B 8

Options :

92090628945. 1
92090628946. 2
92090628947. 3
92090628948. 4

Question Number : 38 Question Id : 9209067323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following taxes does not come under the Union List?
1.  Corporation tax
2. Capitation tax
3. Taxes on income other than agricultural income

4. Taxes on the capital of companies

Options :

92090628949. 1
92090628950. 2
92090628951. 3
92090628952. 4

Question Number : 38 Question Id : 9209067323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafifed # 9 ®1H 91 S J9 gt & Sfarfd 8] S1a1 g2

(1) i\ &R (BRURYA ¢a) (2) Wi cafdd $ (@MU o)
(3) PN AID SIS TR IMG A WP (4) PU-l B Goll W I

Options :

92090628949. 1
92090628950. 2
92090628951. 3
92090628952. 4

Question Number : 39 Question Id : 9209067324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the history of Parliament of India, how many times the parliamentary
proceedings were censured?

1.  Never

2. Once

3. Twice

4.  Thrice
Options :

92090628953. 1
92090628954. 2
92090628955. 3
92090628956. 4

Question Number : 39 Question Id : 9209067324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRAE ¢ & Sider # 98¢ dHdredl &1 fdd-t ar S fdar man

(1) 4 el (2) TP R
(3) TIER 4 dHER
Options :

92090628953. 1
92090628954. 2
92090628955. 3
92090628956. 4

Question Number : 40 Question Id : 9209067325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first delimitation was carried out under whose office?
1.  Prime Minister
2. President
3. Union Minister of Law

4.  Chief Justice

Options :

92090628957. 1
92090628958. 2
92090628959. 3
92090628960. 4

Question Number : 40 Question Id : 9209067325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"yH gRdiAA fasd ug (3HTTha) & Siaeid faear man
(1) WYE Al (2) gufd

3) et faf R (4) W Al
Options :

92090628957. 1
92090628958. 2
92090628959. 3
92090628960. 4

Question Number : 41 Question Id : 9209067326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The book authored by John Rawls on justice in international relations is
1. A Theory of Justice
2. Political Liberalism
3.  Social Justice in a Liberal State

4. The Law of Peoples

Options :

92090628961. 1
92090628962. 2
92090628963. 3
92090628964. 4

Question Number : 41 Question Id : 9209067326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 39 SR R R o SiiF e &1 Y g IR # 82
(1) O & g (2)  VSHIdS IeRdG
(3) U IgR Iy H "Hifoid g (4) e faig

Options :

92090628961. 1
92090628962. 2
92090628963. 3
92090628964. 4

Question Number : 42 Question Id : 9209067327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Plato’s theory of men and metals, the rulers have

1.  silver

2. bronze

3. gold

4. iron
Options :

92090628965. 1
92090628966. 2
92090628967. 3
92090628968. 4

Question Number : 42 Question Id : 9209067327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wiel & SHfekd U9 o1 & Rigid & SFHR HS & I 18Il 87

(1)  =idl (2) DI (s1=)
3) @ 4) @
Options :

92090628965. 1
92090628966. 2
92090628967. 3
92090628968. 4

Question Number : 43 Question Id : 9209067328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which among the following is not Marx’s Laws of Dialectics?
1.  Negation of negation
2. Increase in quality leads to quantitative change

3. Increase in quantity leads to qualitative change

4. Unity and struggle of opposites



Options :

92090628969. 1
92090628970. 2
92090628971. 3
92090628972. 4

Question Number : 43 Question Id : 9209067328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofiiad § 9 &1 91 A9 &1 G5 o1 AP Sadicad Faa T8l 82

(1) ey Ay
2)  TUE H 9l HEEd uRddd &1 A TR $R1 o
(3)  HEH & UTadl W URdaH BT AR TR Bl o
(4)  Wfdufdri &1 udhar iR dad

Options :

92090628969. 1

92090628970. 2

92090628971. 3
92090628972. 4

Question Number : 44 Question Id : 9209067329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who said the following?

“Can you have economic reform without first bringing about a reform of the
social order?”

1. B. R. Ambedkar
2. Jyotiba Phule

3. Pandita Ramabai

4. M. K. Gandhi

Options :

92090628973. 1
92090628974. 2
92090628975. 3
92090628976. 4



Question Number : 44 Question Id : 9209067329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 U8 HEl 4T &1 319 Ugd Ao gl H YR e foA oifdfe urR & 9dd g7

(1) SL3R. 3SR (2) Hifqer g
(3) ufgd e (4) TH®. T
Options :

92090628973. 1
92090628974. 2
92090628975. 3
92090628976. 4

Question Number : 45 Question Id : 9209067330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thomas Hobbes defined sovereignty as
1. the power of the people to question the king
2.  the right of the citizen to elect governments
3. the monopoly of coercive power of singular ruler

4.  the duty of the ruler to serve people

Options :

92090628977. 1
92090628978. 2
92090628979. 3
92090628980. 4

Question Number : 45 Question Id : 9209067330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4THY gled 7 TRIYdI &1 fog w=a § ufeifera fear ur

(1) IS Uy HH B @il ot Wfad

(2 TSR Bl A4 BT ARG D1 HUHR

(3) UdHd AH &1 90-WAN (GIR-SeRewdl) D1 Uid &1 THIUdR
(4) IS P AN B Udl BT Hasd

Options :

92090628977. 1
92090628978. 2
92090628979. 3
92090628980. 4

Question Number : 46 Question Id : 9209067331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Equality of opportunity means
1. everybody is equal before law
2. an equal opportunity to become unequal
3. everybody has equal opportunity

4. everybody has equal talents and skills

Options :

92090628981. 1
92090628982. 2
92090628983. 3
92090628984. 4

Question Number : 46 Question Id : 9209067331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR &1 AT &1 37 34 §2

(1) T & gue yds oafdd 99 §
(2)  SFHH §FF & [T JHH 3faeR
(3) Udd Al B GHF AW U §
(4) Ul diad H GHM UldH (2de) iR HIYd &

Options :

92090628981. 1
92090628982. 2
92090628983. 3
92090628984. 4

Question Number : 47 Question Id : 9209067332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The idea of hegemony is a key concept in the writings of
1.  Francis Fukuyama
2. Antonio Gramsci
3.  Eric Hobsbawm
4. Alexandra Kollontai

Options :

92090628985. 1
92090628986. 2
92090628987. 3
92090628988. 4

Question Number : 47 Question Id : 9209067332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



farras oe | ST &1 faaR U T3e0 S{auRul &2

(1) Whilk" Bpam (2) e ansft
(3) RS giEH (4) Uddsisy Hards
Options :

92090628985. 1
92090628986. 2
92090628987. 3
92090628988. 4

Question Number : 48 Question Id : 9209067333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who propounded the doctrine of ‘iron law of oligarchy'?
1. C.B. Macpherson
2. V. Pareto
3. R.Michels

4. J. Schumpeter

Options :

92090628989. 1
92090628990. 2
92090628991. 3
92090628992. 4

Question Number : 48 Question Id : 9209067333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frua 3@ o3 & wite FFraw &1 ufaureA fean ure

(1) 4.« Apwmda @ R
(3) SR HAIZHE (4) YR
Options :

92090628989. 1



92090628990. 2
92090628991. 3
92090628992. 4

Question Number : 49 Question Id : 9209067334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The steep decline in population due to underinvestments in healthcare and
education known as ‘demographic disaster’ refers to

1. Norway
2. Central Asian States
3. Germany

4. Russia

Options :

92090628993. 1
92090628994. 2
92090628995. 3
92090628996. 4

Question Number : 49 Question Id : 9209067334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WY P S@HE R Wen # -9y & &R o9e § dnivys fiREe &1
SgifeIe Y fquel (sHEnfthe fauret ) & AW 4 v @1 o1ar 8, off fhud! defifd &ar g7

(1y 4@ (2) W\ URAE T
(3) WHAT @) =9
Options :

92090628993. 1
92090628994. 2
92090628995. 3
92090628996. 4

Question Number : 50 Question Id : 9209067335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which among the following is not a form of authoritarian rule?
1. Absolute monarchy
2. Military rule
3. Theocracy

4.  Direct democracy

Options :

92090628997. 1
92090628998. 2
92090628999. 3
92090629000. 4

Question Number : 50 Question Id : 9209067335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fgfefed 7 9 #1991 9d1are] U &1 U6 ¥9 T8l 87

(1) eI 2) I A
(3)  uaE (s (4) UdY didad
Options :

92090628997. 1
92090628998. 2
92090628999. 3
92090629000. 4

Question Number : 51 Question Id : 9209067336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who amongst these developed the ‘garbage can model’ of policy-making?
1.  Yehezkel Dror
2. James Anderson
3.  Frederick Taylor

4. Michael Cohen

Options :

92090629001. 1
92090629002. 2
92090629003. 3
92090629004. 4

Question Number : 51 Question Id : 9209067336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafea 7 O fbua Hifa R & TRas S wisa @ fae i fear ur

(1) Ugohd R (2) R IS
(3) Theld e (4) WISHA B
Options :

92090629001. 1
92090629002. 2
92090629003. 3
92090629004. 4

Question Number : 52 Question Id : 9209067337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The power of the Supreme Court of India to decide disputes between the Centre
and the State falls under its

1. Advisory jurisdiction
2. Appellate jurisdiction
3.  Original jurisdiction

4. Writ jurisdiction

Options :

92090629005. 1
92090629006. 2
92090629007. 3
92090629008. 4

Question Number : 52 Question Id : 9209067337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

E?W%éﬁﬁm@f%ﬁﬁ%ﬂmﬁmwaﬁﬁmmm
?

(1) gargsRl fgwiar (GRafsam)
(2)  Suid st

(3) RS BT

@) e s

Options :

92090629005. 1
92090629006. 2
92090629007. 3
92090629008. 4

Question Number : 53 Question Id : 9209067338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following does not find mention in the Preamble to the Indian
Constitution?

1. Dignity of the individual
2. Dignity of the Constitution
3.  Fraternity

4. Unity and integrity of the nation

Options :

92090629009. 1
92090629010. 2
92090629011. 3
92090629012. 4

Question Number : 53 Question Id : 9209067338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R SfdemE $1 I (oara-n) J Fafeiaa o feaer Swra ) favar /@ g2

(1) i &t e (2) EfguF & IR
(3) Sl (4) XTY DI Tddl 3R Gl
Options :

92090629009. 1
92090629010. 2
92090629011. 3
92090629012. 4

Question Number : 54 Question Id : 9209067339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is the largest committee of the Parliament?
1.  The Committee on Public Accounts
2. The Committee on Estimates
3. The Committee on Public Undertakings

4.  The Committee on Petitions

Options :

92090629013. 1
92090629014. 2
92090629015. 3
92090629016. 4

Question Number : 54 Question Id : 9209067339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4g @ Fafalad # 9 ®F I 9ed 981 i

(1) i o gifa (2) WiFhad Sfffd
(3) i IUhH FiAfd (4) Tt GiAfd
Options :

92090629013. 1
92090629014. 2
92090629015. 3
92090629016. 4

Question Number : 55 Question Id : 9209067340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first ASEAN summit was held in which city/country?
1.  Bali (Indonesia)
2.  Manila (Philippines)
3. Singapore

4.  Kuala Lumpur (Malaysia)

Options :

92090629017. 1
92090629018. 2
92090629019. 3
92090629020. 4

Question Number : 55 Question Id : 9209067340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o 2re/aw # yyd SR RRER g e o gam un

(1) el GeHiEmEn) (2) HEr (i)
(3) R (4) IATCHYI (HARE)
Options :

92090629017. 1
92090629018. 2
92090629019. 3
92090629020. 4

Question Number : 56 Question Id : 9209067341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The judges of the International Court of Justice are elected by the
1. General Assembly
2. Security Council
3. General Assembly and Security Council

4.  General Assembly, Security Council and the Trusteeship Council

Options :

92090629021. 1
92090629022. 2
92090629023. 3
92090629024. 4

Question Number : 56 Question Id : 9209067341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fartres GRI RIS =UTarerd & AR &1 A1 Sl 87

(1) HeraHl

(2)  gR&muRYg

(3)  HERIHI 3R YR&T uiNg

(4)  TETEHI, Y& uRug 3R TR 3R

Options :

92090629021. 1
92090629022. 2
92090629023. 3
92090629024. 4

Question Number : 57 Question Id : 9209067342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The South Asian University jointly established by eight-SAARC member States
is at

1.  New Delhi
2. Dhaka
3. Kathmandu

4. Islamabad

Options :

92090629025. 1
92090629026. 2
92090629027. 3
92090629028. 4

Question Number : 57 Question Id : 9209067342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i (@HULHRAY) F 3116 &g Il gRI Hel W Ggad ¥4 H U3y URA FRaRidt #i
RUAT 31 715 7

(1) 18 faeeh 2) eIl
(3) PIGHIG (4) TEIHEG
Options :

92090629025. 1
92090629026. 2
92090629027. 3
92090629028. 4

Question Number : 58 Question Id : 9209067343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is not associated with Cold War?
1.  Creation of Bizonia
2. Nationalization of Suez Canal
3.  Truman Doctrine of Containment

4. Marshall Plan

Options :

92090629029. 1
92090629030. 2
92090629031. 3
92090629032. 4

Question Number : 58 Question Id : 9209067343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafefEa @ ¥ $19 2id g 3 deftd 781 87

(1) fEsif & Awi (2) XSl e BT APHI0]
(3) UHIE AP & o oA fgia (4) T dreE

Options :

92090629029. 1
92090629030. 2
92090629031. 3
92090629032. 4

Question Number : 59 Question Id : 9209067344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following realist theorists considered that a basic feature of
international relations is the decentralized structure of anarchy between States?

1.  Hans J. Morgenthau
2. T. Schelling
3. Kenneth Waltz

4. J. Mearsheimer

Options :

92090629033. 1
92090629034. 2
92090629035. 3
92090629036. 4

Question Number : 59 Question Id : 9209067344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Foafafad A4 @ feu gurdard Rigraer F 9mr o1 & sicfgia deyr 1 ue go g
Ul & e RIS I fadbiad TR 82
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Options :

92090629033. 1
92090629034. 2
92090629035. 3
92090629036. 4

Question Number : 60 Question Id : 9209067345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Reformist ecology is also known as
1. Deep ecology
2. Social ecology
3.  Humanist or shallow ecology

4. Land ethic

Options :

92090629037. 1
92090629038. 2
92090629039. 3
92090629040. 4

Question Number : 60 Question Id : 9209067345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Furare giiyfaes! & i o= A gt 1 i 82

(1) A uRiRyel

(2) e uRfRfast

(3) HHAE g FUd dR W @) gRRG!
@)  YA-dfaRe

Options :

92090629037. 1
92090629038. 2
92090629039. 3
92090629040. 4

Question Number : 61 Question Id : 9209067346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The full form of NSSP, a pact between India and United States, stands for
1. Next Steps in Strategic Partnership
2. National Security in Strategic Partnership
3.  Next Step in Security Programme

4.  Nuclear Suppliers Support Partnership

Options :

92090629041. 1
92090629042. 2
92090629043. 3
92090629044. 4

Question Number : 61 Question Id : 9209067346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR AR ARSI & o9 U GHd U000 T G 14 31 82

(1) AR WU 39 W elold UIE-RRM

2 AFa e g9 wefos urd-RRm
(3) AR ¥Y 3 R um
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Options :

92090629041. 1
92090629042. 2
92090629043. 3
92090629044. 4

Question Number : 62 Question Id : 9209067347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Justice as requital refers to
1. unequal exchange
2. dependent exchange
3.  equality of opportunity
4. fair exchange

Options :

92090629045. 1
92090629046. 2
92090629047. 3
92090629048. 4

Question Number : 62 Question Id : 9209067347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufdeM & ©U ¥ Oy feas! geiig siarg?

(1) SRHME Mg - UgH (Uddd ) (2) 3 MeH-UgH
(3)  SHIHY B YA (4) HHRET MH-HEH
Options :

92090629045. 1
92090629046. 2
92090629047. 3
92090629048. 4

Question Number : 63 Question Id : 9209067348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is a book by Machiavelli?
1. Discourses
2.  Discourse on the Sciences and Arts
3. Discourse on the Origin and the Foundation of Inequality Among Men

4. Letter Concerning Toleration

Options :

92090629049. 1
92090629050. 2
92090629051. 3
92090629052. 4

Question Number : 63 Question Id : 9209067348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et @ 9 Afegdd @1 14 9 gias &2

1) fEusrds

2) fEuer I o1 98y tsandy

3) fEusid 3ifF g oo U8 BIE3SeF 3l gAgiae] 3T a4
(4) TR HF TS

Options :

92090629049. 1
92090629050. 2
92090629051. 3
92090629052. 4

Question Number : 64 Question Id : 9209067349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following scholars presented Hobbes' ‘State of Nature' as a
society of self-interested competitive individualism?

1.  Quentin Skinner
2. Charles Taylor
3. C.B. Macpherson

4. Harold J. Laski

Options :

92090629053. 1
92090629054. 2
92090629055. 3
92090629056. 4

Question Number : 64 Question Id : 9209067349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFraftrad # @ 5w fagE 3 gisd &1 Tl &1 aur @< 316 TR &1 @l ufawafas
Afdtarg & U GHIE & ©4 H Uk foal u1?

(1) HRAWR 2) I TR
3) &t Aewda 4) B o, ARl
Options :

92090629053. 1
92090629054. 2
92090629055. 3
92090629056. 4

Question Number : 65 Question Id : 9209067350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which of Aristotle’s works, it is stated that the highest good for human beings
is happiness, attained through moral and intellectual virtue?

1. Politics
2. Metaphysics
3. Eudemian ethics

4. Nicomachean ethics

Options :

92090629057. 1
92090629058. 2
92090629059. 3
92090629060. 4

Question Number : 65 Question Id : 9209067350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3R @1 g $ia 7 ug Fe1 a1 8 fr wwl & ferw S=raw fed Afa® SR difg® gequr &
HIEH & UI i TS Ul 82

(1)  Uicifead (2) Helhioay
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Options :

92090629057. 1
92090629058. 2
92090629059. 3
92090629060. 4

Question Number : 66 Question Id : 9209067351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : G. Sartori has presented a comprehensive analysis of multi-
party system.
Reason (R) : Sartori classified political parties in four types—caucus,

branch, cell and militia.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of

(A)
3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090629061. 1
92090629062. 2
92090629063. 3
92090629064. 4

Question Number : 66 Question Id : 9209067351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2) ASRRIAITEIE AFTR AP Gl TRATAS &
(3) AUEE AFPTIRTETHE

(4) A TEIE AfbTR TG E

Options :

92090629061. 1
92090629062. 2
92090629063. 3
92090629064. 4

Question Number : 67 Question Id : 9209067352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : According to Plato, “the State is individual writ large”.
Reason (R) : The virtues found in an individual are found in larger form in
the State.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of

(A)
3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct



Options :

92090629065. 1
92090629066. 2
92090629067. 3
92090629068. 4

Question Number : 67 Question Id : 9209067352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#1231 YA 3T U € TP HUSYA (Assertion A) B ®U  #H fafEd g @ U0 3D BR
{Reason R}%F‘I f-f;

AUPYT A : Wl & HER ‘A Afdd BT fave WEa 3" |
HRUIR : U ogfad O UTU o aTd &iur 39 H Sffde 96 9 H Ul &1 d ¢ |
SR HY & 3fdiew H, 9 AU T fahetl # 9 el Iuga I &1 99 Difelw

(1)  ASRRIATEIE SRR A DI HE BT &

(2) ASRRIFA E § AP R, A B Ol IR A6l §
3) AUEE AfpR UG TR

(4) AWEITEIE APTRE €

Options :

92090629065. 1
92090629066. 2
92090629067. 3
92090629068. 4

Question Number : 68 Question Id : 9209067353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Gandhi supported Panchayati Raj Institutions for a better

administration.

Reason (R) : Ambedkar condemned the panchayats as a repressive and

oppressive institution.

In the light of the above statements, choose the most appropriate answer from
the options given below :

;

2.

3.

4.

Both (A) and (R) are correct and (R) is the correct explanation of (A)

Both (A) and (R) are correct but (R) is not the correct explanation of

(A)
(A) is correct but (R) is not correct

(A) is not correct but (R) is correct

Options :

92090629069. 1
92090629070. 2
92090629071. 3
92090629072. 4

Question Number : 68 Question Id : 9209067353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 €1 FYA fU U § U HHBUA (Assertion A) F FY H ffad g @ TOR1 39S RO
(Reason R}a‘?F‘:[ ﬁ;

AHFUT A - e 3 U IR U & o vt I Switait &1 aHdE faar ar |
HRUIR : ESH A TP IdeABN] R SHIPR] HRT & 9 H vardl & Hal &

o |

SWRIF HYA & 3fcile |, - U 10 fabedi & 9 998 Iuged It &1 994 HIfog

(1)
(2)
(3)
(4)

A 3R R GFT W€l 8 IR R, A 31 Tel AR &

A 3R R GIFI T8l €, Al R, A ! el IR el &
ATEE AfPTR TS AT B

ATEI TR 8 AfFT R T B



Options :

92090629069. 1
92090629070. 2
92090629071. 3
92090629072. 4

Question Number : 69 Question Id : 9209067354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Robert Nozick illustrated negative liberty in his writings.

Reason (R) : According to Robert Nozick, the primary threat to liberty is the
imposition of obligation to which one has not consented.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of
(A)

3.  (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090629073. 1
92090629074. 2
92090629075. 3
92090629076. 4

Question Number : 69 Question Id : 9209067354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e <1 $y U U § Ud SIfHBYUA (Assertion A) F T H ffad @ @ g1 39D HRUI
(Reason R) & =Y ﬁ;

HUBUT A :  JdC AP A 374 TR H TSRS Waddl &l Wy faar |

®RUIR : ae Aot & AR WoFAdl B WUHS TaR1 39 i &I 4151 ¢, o
&R # fodt A wewfa 1 €18 |

I HYF & 3fTele H, 1 iU 70 fabedi # 9 998 Iugad IR &1 944 Sifog

(1)  ASJRRIAI TSI € IR R, A P Ual RSN &

2) ASRREH 98l €, Afd R, A DI el e 81 &
(3) AUEE AFTIRIS AR

(4) AUGITEIE AfPTREEE

Options :

92090629073. 1
92090629074. 2
92090629075. 3
92090629076. 4

Question Number : 70 Question Id : 9209067355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Five principles of peaceful coexistence known as
‘Panchsheel’ which is one of the fundamental principles of
India's foreign policy.

Reason (R) : Providing equal space is one of the five principles of
Panchsheel.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)istrue but (R) is false

4. (A)is false but (R) is true

Options :

92090629077. 1
92090629078. 2
92090629079. 3
92090629080. 4

Question Number : 70 Question Id : 9209067355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& €1 Hu fu MU § U@ SfUFHUA (Assertion A) B ¥ H ffad & o g1 39D BRI
(Reason R}%W if;

Py A - ifaqol gg-sifeda & ui" Rigidl &1 de=iid & ¥4 & SF1 91 g, o YRd
F! faew Hifa & g Rigid A g |

HRUIR : vaitd & Rigidl § 3 U, 90 ®F UeH A1 ¢ |

SRR B & 3Mdld H, 91 3T 7 fab el 7 § el Iugad I &1 999 Hifore

(1) AR RGH Ugl & 3R R, A I el BN &

2  ASIRRHI el g, AfF R, A P G IR e &
3) ATHE AFIRIS TR

(4 AUGITEIE ABTRULE

Options :

92090629077. 1
92090629078. 2
92090629079. 3
92090629080. 4

Question Number : 71 Question Id : 9209067356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Reservation of a State bill for the assent of the President is a
discretionary power of the Governor.

Reason (R) : This could be achieved through amending Article 156 of the
Indian Constitution.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)istrue but (R) is false

4. (A)is false but (R) is true



Options :

92090629081. 1
92090629082. 2
92090629083. 3
92090629084. 4

Question Number : 71 Question Id : 9209067356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

411 € $YF AU U § U SHHBYA (Assertion A) F FU  H foiRad @ ot g1 I9F HRUI
(Reason R}a'?F'I[ ff;

AHPYTA : T & B [Qggs &1 Apuld o1 gAfd & o e Isgara &1
fAasieR 2 |

HRUIR : gﬁm%?ﬂﬂﬁfamﬁﬂﬁﬂ—%aﬁwsﬂﬂimm@lﬂmmm
THATE |

IR HY P 3fdlw H, 1 3 70 fasel 7 § 98 Iuga I &1 999 Hiforw

(1) ASIRRGH Hgl € 3R R, A B Tgl ARAT §

(20 ASIRRSH HEl € dfdT R A B Uel IR T8l &
3) AWSE BT RIS TR

(4) AWEITRIE APTR IR

Options :

92090629081. 1
92090629082. 2
92090629083. 3
92090629084. 4

Question Number : 72 Question Id : 9209067357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) :  Judicial review is a process to restrain the executive or the
legislature from exercising power which may not be
sanctioned by the Constitution.

Reason (R) : The source of the power of judicial review in India is Article 12
of the Constitution.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false

4. (A)is false but (R) is true

Options :

92090629085. 1
92090629086. 2
92090629087. 3
92090629088. 4

Question Number : 72 Question Id : 9209067357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#1331 YA 3T U §: TP fHHYA (Assertion A) B ®U  H fiifEd g o G 3D BRUI
(Reason R}a'TFW if;

UHYA A . S Y& SRt a1 fau HUSd &1 39 Uidadl & UaRT & |
AR T & U Uikl g o Tiay™ g1 Sdipfa =18l <1 o1 wadi § |

HRUR: YRA # 1S Gdev1 ot Al &1 Ad JfaeE &1 s we - 128 |
SWRIF $YA & 3l H, -2 U T fabedi #§ 9 998 Iugad It 1 994 SIS

(1) ASIRRTH TSI € SRR, A P! Tgl ARS &

(2) ASIRRGH T8l € P R A T 9ol AR el &
3) AVSE AFTIRUG TR

(4) A"EITElE AP R WG



Options :

92090629085. 1
92090629086. 2
92090629087. 3
92090629088. 4

Question Number : 73 Question Id : 9209067358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following statements by Rabindranath Tagore on Indian nationalism
in order :

A. Politics in the West have dominated western ideals, and we in India are
trying to initiate you.

B. Our real problem in India is not political. It is social.
C. Each nation must be conscious of its mission.

D. From the very beginning, India has a problem of race.

Choose the correct answer from the options given below :

1. B, A C,D

2. BADC

3. ACBD

4. A,C,D,B
Options :

92090629089. 1
92090629090. 2
92090629091. 3
92090629092. 4

Question Number : 73 Question Id : 9209067358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i A1y R & YRR Apare R Fofafed Sy 1 98l srepH 7 ey fbfon

A UREm ¥ IeEifa &1 ufted snewif W ada 6T 8 SR gH HRA H o ¥ 3gHu HA
FITHIFEE |

B. MRd ¥ 8R! aRafde YIS YHE ASHITa® el 8, afeeh U8 Wi 8
C. v P B G R 3 IR A G G IR

D. HRdHUR™ ¥ g usifd (39) &1 U& G0l g

12 fu v fasedi # ¥ el SR &1 997 el -

(1) BACS3RD
(20 B,ADS3RC
(3) A CB, 3RD
4 ACDSdRB

Options :

92090629089. 1
92090629090. 2
92090629091. 3
92090629092. 4

Question Number : 74 Question Id : 9209067359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is Karl Marx’s formulation of ‘Base and Superstructure’ in a jumbled
order. Give the correct order :

A. The relations are relations of productions which correspond to a definite
stage of development of their material productive forces.

B. The relations are indispensable and independent of their will.

C. The sum total of these relations of production constitutes the economic
structure of society, the real foundation of a given society.

D. In social production of life, men enter into definite relations.

Choose the correct answer from the options given below :

1. D,A,C,B

2. D,BAC

3. B,ADC

4. B,C,AD
Options :

92090629093. 1
92090629094. 2
92090629095. 3
92090629096. 4

Question Number : 74 Question Id : 9209067359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 P g 95 BH | PId AR B “3MUR R ARRRET @9 U8 GREHER) 31 9@ a1
T § | $9PT el 3FhH Faisy:

A

D.

4 HeY I Ty g, ol 3@ Hifde Ides iead] & fde™ & e Fidh @ &
HTEYEAE |

Y ey e g o T 3B A WA ed & |

IS 34 et &1 O 39 AT i 3H1fefes LT BT 764 Bl 6, ol U Ued
AN &1 dRdld® YR g

Sitgq & AATe Idie # aafdd fAfdg ey A ufay svar g

19 fau e fasedi @ el IR &1 994 Sifoe

(1) DACB

(2) D,BAC

(3 BADC

(4 B.CAD
Options :

92090629093. 1
92090629094. 2
92090629095. 3
92090629096. 4

Question Number : 75 Question Id : 9209067360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following statements by Mahatma Gandhi on civilization in right
order :

A.  This civilization takes note neither of morality nor religion.
B. Civilization is not an incurable disease.

C. The people of Europe today live in better-built houses than they did a
hundred years ago. This is considered emblem of civilization.

D. This civilization is such that one has only to be patient and it will be
destroyed.

Choose the correct answer from the options given below :

1. C,A,B,D

2 D,ACEB

3. CADB

4 D,AB,C
Options :

92090629097. 1
92090629098. 2
92090629099. 3
92090629100. 4

Question Number : 75 Question Id : 9209067360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HerH Tith & Sl R Fafeiad Sy o1 98t srsmH | afed fbfon |

A
B.
%

D.

a9 dl Afaedr Igt e meaE T ®
WA U ST I 1 &

aoHH H TR & @ U 8 Y gd &1 ga J deR o 4 Pffa e Awd € 139
Wl &1 Uciics {1 1l @

Ug WAl 391 k8 &1 € & aufad &1 dam g1 g 3k gg =y g1 st

1= feu 7o faeedi # 9 Wel I &1 944 Difelg :

() CABS3RD
(2) D,A C3RB
3) CADS3RB
4 D ABSRC
Options :

92090629097. 1
92090629098. 2
92090629099. 3
92090629100. 4

Question Number : 76 Question Id : 9209067361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in chronological order according the year of joining the
European Council / European Union :

A. Spain

B. Croatia
C. Greece
D. Bulgaria

Choose the correct answer from the options given below :

1. D,C,B,A

2. B,CAD

3. ADBC

4. C,A,D,B
Options :

92090629101. 1
92090629102. 2
92090629103. 3
92090629104. 4

Question Number : 76 Question Id : 9209067361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafiiEd & Qda uRue/Rdg 99 § 9 89 & a¥ & SUR TR SIaddraR
mﬁm%ﬁm:

A
HIEl

LGl

gamian
412 feu T fasedi & 9 Wl IR &1 984 Hifeg ;
) B.CEA
(20 B.CAD
3) ADBC
4 CAD,B

o N = »

Options :

92090629101. 1
92090629102. 2
92090629103. 3
92090629104. 4

Question Number : 77 Question Id : 9209067362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order with regard to its year of formation :
A. ASEAN

UN

SAARC
EU

m o o »

NAM

Choose the correct answer from the options given below :
1. B,A;D,G,E

2. NBECED

3 BEACD

4. A ED,CB



Options :

92090629105. 1
92090629106. 2
92090629107. 3
92090629108. 4

Question Number : 77 Question Id : 9209067362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad @1 396 Faio & v & YR R SIasmHER ddyd fefen
A. SR (ASEAN)

B. WY P (UN)
C. WIH (SAARC)
D. Y EY (Ev)

E. e FRUg 3MiEe (NAM)
41 fau v fased] 1 @ TEl IR &1 9949 BT ;

(1) BADCE
(N AlE C i
3) BEACD
4 AEDEB

Options :

92090629105. 1
92090629106. 2
92090629107. 3
92090629108. 4

Question Number : 78 Question Id : 9209067363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following provisions according to the Constitution of India :

A. Freedom of conscience and free profession, practice and propagation of
religion

Protection of interests of minorities
C. Prohibition of employment of children in factories

D. Protection in respect of conviction for offences

Choose the correct answer from the options given below :

1. AB,D,C

2. BACD

3. C.D,B.A

4 D,C,AB
Options :

92090629109. 1
92090629110. 2
92090629111. 3
92090629112. 4

Question Number : 78 Question Id : 9209067363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i Sudtl &1 YR JfauH & UR HaiRyd fefm

A, SA:H0 DI R 4H B a1y TY Y HAA, JHBT AR Ud YR HA DI Tazidl
B. 3HeqdwEH® 'l & fgal Pl T

C. FREHH sl & Fare &1 ufauy

D. el & e SufifE & ey A e

i feu v faeedi § 9§ 9el I &1 944 Biferg

(1) ABDC

(2) BACD

3y CD BA

4 DCAB
Options :

92090629109. 1
92090629110. 2
92090629111. 3
92090629112. 4

Question Number : 79 Question Id : 9209067364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following fundamental rights in the right order :
A. Right to constitutional remedies
B. Rightto life
C. Right to freedom
D. Right to equality

Choose the correct answer from the options given below :

1. D,C,B,A
2. CDAB
3. C,B,AD

4 D, CAB



Options :

92090629113. 1
92090629114. 2
92090629115. 3
92090629116. 4

Question Number : 79 Question Id : 9209067364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad o siieRi & g8l orfpH # arafiyd S
A, UfauAe IUER &1 PSR

B. Wildd &7 3Mf¥BR

C. TcAdl Bl IR

D. HHME &1 3R

1 few e fasheul # @ UEl IR &1 997 i -

(1) D.CBA
(2) CDAB
(3) CBAD
4 DCAB
Options :

92090629113. 1
92090629114. 2
92090629115. 3
92090629116. 4

Question Number : 80 Question Id : 9209067365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Party alliances since the 1990s have been on territorial
compatibility than ideological compatibility.

Statement !l : BJP's alliances of 1998, 1999, 2004 and 2009 were not
territorially compatible.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :

92090629117. 1
92090629118. 2
92090629119. 3
92090629120. 4

Question Number : 80 Question Id : 9209067365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RasyEfeumu e

HYT1 ;1990 ¥ U TEdY daIR@® TEUdl & SulU USRI TEudl (CReRad
Hifaferel) MR W IR T |

FHYTII: 1998, 1999, 2004 3R 2004 3R 2009 F S (MR ST Uidl) & T3ae
USRI w0 9 3y 781 ¥ |

IR HYA & i H, A {30 70 fawedl § 9 gl I 994 Siforg

(1) SRS TI 8
(2) Y SR I EHT I §
(3) YT HA G, Wl DU 11 A §
(4) HYF| NG g, AT YA T B

Options :



92090629117. 1
92090629118. 2
92090629119. 3
92090629120. 4

Question Number : 81 Question Id : 9209067366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Plato stated, “that the State comes into existence originating
in the bare needs of the life and continuing in existence for the
sake of good life.”

Statementll : Machiavelli, in the Prince, considered that “the power which
has Authority over Men" is the State.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement || are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :

92090629121. 1
92090629122. 2
92090629123. 3
92090629124. 4

Question Number : 81 Question Id : 9209067366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RS FERumE:

HUYFA| : Wl A Bl Ul — ‘T Siiaq DI dad HagHdrsl # IgHd gidx i H STl
2 IR 3 fid WR & SRV S RIY f%ia § o @ g1

YT :  Biegdal 7 g U= & A1 41 [F safdd W 91 W arel 9ied I §
I HYA & 3Mdld |, i 180 710 [deedl d | el Iavd! 904 DI

(1) SYIRIGHITEE

(2)  HYF| SR I EHI T &

(3) HYTIFA g, Wl Y || 3T §
(4) Y| MTH g, Alh PYA 1| T &

Options :

92090629121. 1
92090629122. 2
92090629123. 3
92090629124. 4

Question Number : 82 Question Id : 9209067367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement| : Robert Michels used the concept of ‘iron law of oligarchy’ to
describe the organization of political parties based on
domination by a ruling elite.

Statement |l : Maurice Duverger's law states that “the simple-majority
single-ballot system favours the two-party system"”.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :



92090629125. 1
92090629126. 2
92090629127. 3
92090629128. 4

Question Number : 82 Question Id : 9209067367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FERTMmE:

FYT| ;. ac MY 9 TP TS U 31 & a5 IR AR Ao-1dd adl & A6
1 gUH B34 & o0 '3 & dig FaH BT SGHRUN &1 J9anT fear o |

HYTII:  HRG gaoR & Frga # &l T § 6 9UR 9g6d, Uha  Hdgrd womdl (e
AR, Riviel dee Ren) fgedta womell 1 aRweRl Sl 8 |

IS HY & 3fald |, A S0 710 [deedi 7§ 9 98t ITd! 994 Hifvig

(1) SYFIARNSHT ITE

(2)  HYFI AR ISH JEHE

(3) YT | Td &, Al YA |l 38d &
4) DY MTIE, AP FYT 1 T B

Options :

92090629125. 1
92090629126. 2
92090629127. 3
92090629128. 4

Question Number : 83 Question Id : 9209067368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Theorists of global justice argue that the human beings, and
the State, are central to any theory of justice.

Statementll : Thomas Pogge rejected the existence of institutional
precondition for justice at the global level.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090629129. 1
92090629130. 2
92090629131. 3
92090629132. 4

Question Number : 83 Question Id : 9209067368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FRIAFyRuME:

®YT | ;. dfS A & Rigiderl &1 ab ¢ & 999 ok T 9 & 6 ot Rigia &
Sara-fag ¢ |

YN 4 U A A "R W A & e it gd-3d & ofiid & sRdigd
foban |

IS YA & 3fald |, 1 35U 10 [dedi § 9 9l I 994 P

(1) FYISRISHI TIE
(2) @Y SR I EE T &
(3) YA T g, Al HYA 1l 3T §
(4)  BYA | IATY B, A YA 11 T B

Options :



92090629129. 1
92090629130. 2
92090629131. 3
92090629132. 4

Question Number : 84 Question Id : 9209067369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : During the first wave of democracy (1828-1926) nearly 30
countries, including Germany, established democratic
institution.

Statement |l : The first wave of democracy was partially reversed (reverse

wave) between 1922 and 1942 in Germany and ltaly.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true
2 Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true

Options :

92090629133. 1
92090629134. 2
92090629135. 3
92090629136. 4

Question Number : 84 Question Id : 9209067369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RIsyfRume:

FYF| . dbad DI UYH Te (1828-1926) & SR SHAT Ffgd T4 30 230 7 dlwdiF®
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(1) SYFISRNSHI G 8
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Options :

92090629133. 1
92090629134. 2
92090629135. 3
92090629136. 4

Question Number : 85 Question Id : 9209067370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Article 226 of the Indian Constitution deals with
1. transfer of a judge
2 appointment of acting Chief Justice
3. appointment of additional judges
4

power of High Courts to issue certain writs

Options :

92090629137. 1
92090629138. 2
92090629139. 3
92090629140. 4

Question Number : 85 Question Id : 9209067370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR HiaUH &1 sFave-226 b9 dafia g ?
(1) =TT &1 ™ERR

(2) &SR B Iyl $1 g
(3)  offaRved madier & FAgfda
4) i Rew TN #A & foe 3= ey & Aidd

Options :

92090629137. 1
92090629138. 2
92090629139. 3
92090629140. 4

Question Number : 86 Question Id : 9209067371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement| : Popular democracy is a form of indirect democracy.
Statement Il : It pre-supposes factional or sectional division.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement || are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4.  Statement | is false but Statement Il is true

Options :

92090629141. 1
92090629142. 2
92090629143. 3
92090629144. 4

Question Number : 86 Question Id : 9209067371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090629141. 1
92090629142. 2
92090629143. 3
92090629144. 4

Question Number : 87 Question Id : 9209067372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are true about representative democracy?
A.  Simple majority means more than half of those voting.

B. Blocking minority reflects a situation where a minority is able to prevent a
proposal from passing.

C. Absolute majority means more than half of those entitled to vote.

D. Qualified majority demonstrates more than a simple majority which is
typically two-third majority.

E. Concurrent majority indicates the largest number of votes but not
necessarily a majority.

Choose the correct answer from the options given below :
1.  A,Band C only
2. DandE only
3. A B,CandDonly
4. A, B, CandE only

Options :

92090629145. 1
92090629146. 2
92090629147. 3
92090629148. 4

Question Number : 87 Question Id : 9209067372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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E. Hﬂﬁﬁ;@%ﬂﬂﬁ&%ﬂﬂﬁ@laﬁgﬁﬂm 8, df Ug 3Maws el ¢ &b
qgad

4 fau e fasedi # @ el SR &1 994 Siforu :

(1) &ad A B3RC
(2) HAADIIRE

(3) &ad A BCS3RD
(4) Padd A B, C3RE

Options :

92090629145. 1
92090629146. 2
92090629147. 3
92090629148. 4

Question Number : 88 Question Id : 9209067373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are correct about the Governor of a State?

A.  The Governor holds office during the pleasure of the President.

B. The minimum age for getting appointed as a Governor is 30 years.
C. The President conducts the Oath of the Governor.
D

The Governor has the power to grant pardons and to suspend, remit or
commute sentences in certain cases.

E. The Seventh Constitutional Amendment Act mandates both the States to
share the emoluments and allowances of the Governor in case the same
person is appointed as Governor of two States.

Choose the correct answer from the options given below :
1. C,DandE only
2. A C,DandE only
3. A BandConly

4. A DandEonly
Options :
92090629149. 1
92090629150. 2
92090629151. 3
92090629152. 4

Question Number : 88 Question Id : 9209067373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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D. Wiadi Hfu W= 39 A # 3 a1 Isdl 6 AsTUrd b aRer GHIgHeE) SR
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= § fge fba 9T @

1 feu T fasedi @ 9 9l IR &1 984 Hifud ;

(1) @&dd C, D, E

2) Fdd A C DIRE
(3) @&ad A B3RC
(4) Fdd A DSRE

Options :

92090629149. 1
92090629150. 2
92090629151. 3
92090629152. 4

Question Number : 89 Question Id : 9209067374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following statements are true about legal equality?
Legal equality does not guarantee equality of treatment by the law.
Legal equality contradicts rule of law.

Legal equality is a prominent characteristic of civil society.

Legal equality does not abolish special privileges.

m o o » »

Legal equality cannot be the basis for contract based relations.
Choose the correct answer from the options given below :

1. A, CandE only

2.  AandC only

3. CandEonly

4. AandD only

Options :

92090629153. 1
92090629154. 2
92090629155. 3
92090629156. 4

Question Number : 89 Question Id : 9209067374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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12 fu e fasedl § @ el IR &1 98 S

(1) &ad A C3RE

(2) &ad ASRC

(3) Fad C HRE

(4) ®ad ASRD
Options :

92090629153. 1
92090629154. 2
92090629155. 3
92090629156. 4

Question Number : 90 Question Id : 9209067375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following statements are true about institutional liberalism in
international relations theory?

A. Institutional liberals claim that international institutions help promote
cooperation between States.

B. The extent of institutionalization can be measured by depth and scope.

C. A high level of institutionalization reduces the destabilizing effects of
multipolar anarchy.

D. The role of institutions lies in strengthening international agreements.
E. Institutions however cannot make up for lack of trust between States.
Choose the correct answer from the options given below :

1. A,B,C and D only

2. B,C,DandE only

3. A,CandDonly

4. A, ,C,DandE only

Options :

92090629157. 1
92090629158. 2
92090629159. 3
92090629160. 4

Question Number : 90 Question Id : 9209067375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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fcp, TRIE Il o &t [aYTd D B 1 g el H Jehell

1 fau o fasedi # @ el IR &1 994 ifoe :

(1) &ad A, B, C3RD

(2) @4d B,C,D3RE

(3) ®ad A C3RD

(4) @dd A C,DIRE
Options :

92090629157 1
92090629158. 2
92090629159. 3
92090629160. 4

Question Number : 91 Question Id : 9209067376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following statements are true about the different approaches
to the study of comparative politics?

A. Institutional analysis examines the functioning of and relationships between
institutions in a given moment.

B. New institutionalism is a revival of institutionalism that looks at how
institutions shape decisions and define interests.

C. The behavioural approach focuses on the study of constitutions, institutions
and organizational charts.

D. Structuralism examines relationships among parts rather than the parts
themselves.

E. The rational choice approach explains political action through statistical
generalization rather than interest of the actors.

Choose the correct answer from the options given below :
1. A,Band D only
2. A, BandConly
3. A CandEonly
4 B, D and E only

Options :

92090629161. 1
92090629162. 2
92090629163. 3
92090629164. 4

Question Number : 91 Question Id : 9209067376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2 fau U fasedi © 9§ ¥l IR &1 99 DI ;

(1) &ad A B3RD

(2) &ad A BSMRC

(3) ®ad A C3IRE

(4) dd B,DIARE
Options :

92090629161. 1
92090629162. 2
92090629163. 3
92090629164. 4

Question Number : 92 Question Id : 9209067377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It has been found about the Election Commission of India
A.  The end of emergency led to decline of the Election Commission of India
B. Inthe 1990s, the Commission faced regulatory activism

C. The assertiveness of the Election Commission was largely due to an alert
media and strong opposition

D. Even, the Chief Election Commissioner, T. N. Seshan contributed to
protecting the sanctity of democratic elections

Choose the most appropriate answer from the options given below :
1.  A,Band C only
2. B,CandDonly
3. A, CandDonly

4. A ,BandD only

Options :

92090629165. 1
92090629166. 2
92090629167. 3
92090629168. 4

Question Number : 92 Question Id : 9209067377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &ad A,B,C
(2) @&dd B, C,D
(3) ®&dd A,C,D
(4) &dd A, B,D
Options :

92090629165. 1
92090629166. 2
92090629167. 3
92090629168. 4

Question Number : 93 Question Id : 9209067378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On the question of State sovereignty
A. Issues of global concern cannot challenge external sovereignty of the State

B. Such issues cannot bring multilateral pressure on decision making of the
States

C. Human rights movements affect the policy of internal security of the States

D. Human rights issues are also deployed by the States to influence each
other's decisions

Choose the most appropriate answer from the options given below :
1. AandB only
2. CandD only
3. AandD only

4. B and C only

Options :

92090629169. 1
92090629170. 2
92090629171. 3
92090629172. 4

Question Number : 93 Question Id : 9209067378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) ad A3RB
(2) &dd C3RD
(3) had ASRE
(4) ®dd B 3RC
Options :

92090629169. 1
92090629170. 2
92090629171. 3
92090629172. 4

Question Number : 94 Question Id : 9209067379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List-lI :

List— List-II
Theories of Nationalism Theorist
(A) | Primordialism (1) | Ernest Gellner
(B) | Ethno-symbolism (I1) | Adrian Hastings
(C) | Perennialism (111) | Anthony Smith
(D) | Modernism (IV) | Walker Connor

Choose the correct answer from the options given below :
(A1) (BYH(IV); (C)=(11); (D))
2. (A(I): (B)=(1); (C)=(1ll); (D}=(IV)

—&

3. (Ay(In; (B (CH(V): (D)(1)
4. (AR(IV); (B)=(11); (Cy=(n): (D)—(1)
Options :

92090629173. 1
92090629174. 2
92090629175. 3
92090629176. 4

Question Number : 94 Question Id : 9209067379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(€ wrdiarg (AU (T ey
(D) MYl (Iv) dlaR BHER

1 fau e fasedi & 9 9l IR &1 994 DI

(1 (A=), B)-(IV), (C)-(1), (D)-()
(2) (A=), (B)-(1), (C)-(1h), (D)-(IV
(3)  (A)-(m), (B)-(I), (©)-(IV), (D)-(1)
(4)  (A)-(IV), (B)-(Il1), (CO)-(I), (D)-(1)

Options :

92090629173. 1
92090629174. 2
92090629175. 3
92090629176. 4

Question Number : 95 Question Id : 9209067380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List-l :

List-l List—II
Political Thinkers Books
(A) | Mary Wollstonecraft () | Sexual Politics
(B) | Kate Millett (1) | The Female Eunuch
(C) | Germaine Greer (1) | A Vindication of the Rights of
Woman
(D) | Judith Butler (IV) | Gender Trouble

Choose the correct answer from the options given below :
1. (A=(l); (B)=(I): (C-(V): (D)=(1)
2. (A)(I); (B)=IV); (C)-(1); (D)-(1)

3. (Al (B)~(1): (C)-(I); (D}-(IV)

4. (A)=(l1); (B)(I): (CH-(IV): (D)1

Options :

92090629177. 1
92090629178. 2
92090629179. 3
92090629180. 4

Question Number : 95 Question Id : 9209067380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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i fqu U fawmedt § 9 9l IR &1 994 S

(1) (A)-(IIT), (B)-(II), (C)-(IV), (D)-(I)
(2) (A)-(I1D), (B)-(IV), (C)-(D), (D)-(IV)
(3)  (A)-IID, (B)-(I), (C)-(I), (D)-(IV)
(4) (A)-(IID), (B)-(D), (C)-(IV), (D)-(IL)

Options :

92090629177. 1
92090629178. 2
92090629179. 3
92090629180. 4

Question Number : 96 Question Id : 9209067381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List-II :

List-I List-lI
Philosophers Central Idea
(A) | Machiavelli (I) | Self-preservation
(B) | Hobbes (1) | General will
(C) | Locke (ll) | Seize absolute authority
(D) | Rousseau (IV) | Limited government

Choose the correct answer from the options given below :
T (A (BHIV); (C)1): (D)
2. (AR(IV): (B)(I): (C)=(1): (D)=(liT)
3. (A (B)YAD; (CH(IV); (DI
4. (A(IV); (BY(I); (C)=(1); (D))

Options :

92090629181. 1
92090629182. 2
92090629183. 3
92090629184. 4

Question Number : 96 Question Id : 9209067381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(), (B)-(1V), (©-(D), (D)-(IN)
(@) (A)-(V), (B)-(), (C)-(I1), (D)-(lIN)
(3)  (A)-(1), (B)-(1). (O)-(IV), (D)-(IN)
(4)  (A)-(V), (B)-(i), (Q-(1), (D)-(1)

Options :

92090629181. 1
92090629182. 2
92090629183. 3
92090629184. 4

Question Number : 97 Question Id : 9209067382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List-lI :

List-I List-II
Writs Corresponding Meaning
(A) | Habeas Corpus (Iy | Enquiring into the legality of the claim
to a public office
(B) | Mandamus (1) | Command
(C) | Certiorari () | To have a body
(D) | Quo Warranto (IV) | Quash the order or decision of the
tribunal

Choose the correct answer from the options given below :
1. (A(: (BYHI): (Tl (DHIV)
2. (A(VY) (B} (C)=(I); (D)D)
3. (AN (B)=(1): (C)}-(V): (D)(1)
4. (A)=(l); (B)=(llI); (CYH1); (D)=(1V)

Options :

92090629185. 1
92090629186. 2
92090629187. 3
92090629188. 4

Question Number : 97 Question Id : 9209067382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(1), (B)-(11), (©)-(), (D)-(IV)
(2)  (A)-(IV), (B)-(llT), (C)-(IN), (D)-(I)
(3) (A, (B)-(1), (C)-(1V), (D)-(1)
(4) (A=), (B)-(I), (C)-(1), (D)-(IV)

Options :

92090629185. 1
92090629186. 2
92090629187. 3
92090629188. 4

Question Number : 98 Question Id : 9209067383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—1 with List=II :

List—I List-I
Electoral System Countries
(A) | Single member plurality () | lreland
(B) | Single transferable vote (I1) | Germany
(C) | Mixed member proportional (lI1) | South Africa
(D) | List system (IV) | Canada

Choose the correct answer from the options given below :
1. (AIV); (B)(1); (C)=(I); (D))
2. (A)(I); (B){1); (C)-(Il): (D}~(IV)
3. (A(IV); B}l (C)=(1); (D))

4. (A)=(I); (B)=(IV); (C)(H); (D)(1)

Options :

92090629189. 1
92090629190. 2
92090629191. 3
92090629192. 4

Question Number : 98 Question Id : 9209067383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-0V), (B)-(1), (C)-(), (D)-(11)
(2)  (A)-(), (B)-(1), (C)-(I), (D)-(IV)
(3)  (A)-(IV), (B)-(IN), (O)-(1), (D)-(1)
(4)  (A)-(), (B)-(IV), (©)-(), (D)-(1)

Options :

92090629189. 1
92090629190. 2
92090629191. 3
92090629192. 4

Question Number : 99 Question Id : 9209067384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=l| :

List— List-—II

(A) | Wilson's Fourteen Points, speech (I) | Triumph of liberalism
over all other ideologies

(B) | Francis Fukuyama's The End of | (ll) | Creation of regional
History parliaments

(C) | David Held's cosmopolitan model (lI1) | A general association of
of democracy nations must be formed

(D) | G. John lkenberry's crisis of the | (IV) | The erosion of
liberal order sovereignty norms

Choose the correct answer from the options given below :

1. (A)=(I); (B)=(Il): (C)-(IV); (D)~(1)
2. (A(IV); (B)-(1); (C)=(11); (D)-(1)
3. (Ay(I); (B)=(1); (Cy=(11); (D)-(IV)
4. (AX(); (B)=(I); (CH(I); (DHHIV)
Options :

92090629193. 1
92090629194. 2
92090629195. 3
92090629196. 4

Question Number : 99 Question Id : 9209067384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) A=), (B)-(), (C)-(V). (D)-(1)
(2)  (A)-(V), (B)-(I), (C)-(), (D)-(11)
(3)  (A)-(), (B)-(1), (C)-(IN), (D)-(IV)
(@) (A=), (B)-(), (C)-(1), (D)-(V)

Options :

92090629193. 1
92090629194. 2
92090629195. 3
92090629196. 4

Question Number : 100 Question Id : 9209067385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=l| :

List— List-II

Directive Principles of State Policy Article

(A) | Organization of village panchayats (1) | Article 49

(B) | Workers participation in management (i) | Article 40

(C) | Protection of monuments (Ill) | Article 50
(D) | Separation of judiciary from executive (IV) | Article 43A

Choose the correct answer from the options given below :
(A)=(11); (B)=(IV); (C)y=(1); (D)—(1N)
2. (A(ID; (B-(IV): (C)=(ln); (D1
3. (A(IV): (B)(1): (C)=(I); (D)(IN)
4. (A(I); (BYHIV); (C)1): (D))

—

Options :

92090629197. 1
92090629198. 2
92090629199. 3
92090629200. 4

Question Number : 100 Question Id : 9209067385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)
(2)
(3)
(4)

(A)-(l), (B)-(IV), (C)-(1), (D)-(11)
(A)-(1), (B)-(1V), (CO)-(1), (D)-(1)
(A)-(1V), (B)-(1), (©)-(l1T), (D)-(I)
(A)-(1), (B)-(1V), (C)-(1), (D)-(1N)

Options :

92090629197. 1
92090629198. 2
92090629199. 3
92090629200. 4



